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Show all work for full credit. Pencil only.

1) Solve each inequality algebraically, then represent your solution on the number line provided.
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2) Solve each inequality algebraically, then represent your solution on the number line provided.
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3) Lew says to his granddaughter Audrey, “even if you tripled your age and added 9, you still
wouldn’t be as old as | am.” Lew is 60 years old. Write and solve an inequality to determine the

possible ages Audrey could be.
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4) You buy a carlfor $3500. Ypur car depreciates (loses value) at a sz% r year. Write an equation of an

exponential fuxkﬁnn to model this situation. Then'make a table of va and sketch a graph.
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5) Write the equation of an exponential function of the form ¥ = ab* passing through the points

1
(2,3)and (5,5)
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7) Examine the graph below.

a. Write an inequality for the graph. \/ S X 4@
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b. Give an example of a point on the graph that is a solution for the

inequality? CQ s & >

b. Is the poi ( -6, 0) Ja solution to the inequality, how do you know?
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c. Isthe origin a solution? Explain below.
i. Justify your answer using the graph.
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d. Ifthe line was broken (or dashed) how would the inequality that you wrote in part (a) be different?
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e. If the other side of the line was shaded and the current sﬁading was gone, how would the inequality that
you wrote in part (a) be different? Explain why.
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9) Is the point (>E)4/) a solution to the system of inequalities? Explain with complete sentences.
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10) Which point is in the solution set of the system of inequalities shown on the accompanying graph?

a. (O, 0)
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b. (3,3) b <
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d. (2,3)
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11. Graph the following:

y=-3x+4 o 2
y < 2(0.5)*




